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@ 24000m? = 2.4ha @ 150a = 1.5ha
@0.3 km? = 3ha @ 24000a = 2.4km?

® 3.6ha = 36000 m?

® 0.3km? = 30ha
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D 3.6ha = 360 m? @ 46a = 46000 m?
@240a = 0.024 km? @ 300m? =0.03a

® 8km? = 8000000 a
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@ 3.6 ha = 3600 m?
@ 46a = 4600 m2
@ 300m? = 3a

® 8km? = 80000 a
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® 350m? =35a @ 5.6km? = 5600 m?>

® 3700a = 3.7ha @ 17t = 1700 kg
(@)23000000 g =23t
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@ 350m? = 3.5a

@ 5.6km? = 5600000 m?
@ 3700a = 37ha

@ 17t = 17000 kg
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@® 0.02km? @ 0.2ha (3)2000a
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@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha
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® 420kg 2] 100 HiE 42t YUYt

@350kg + 4.7t = 350kg + 4700 kg = 5050 kg
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D 12ha @) 1200000 m?
® 0.12km?2 @ 1200a

® 1200000000 cm?

~&B

SR E m? 2 FYoiA vl

@ 12ha = 1200 a = 120000 m?

® 0.12km? = (0.12 x 1000000) m? = 120000 m?
@ 1200 a = 120000 m?

® 1200000000 cm? = 120000 m?
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32. 7-Lolyl=32ha 9 E=olA & 5.6t & AASIAL, THYE 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
% kg H BHUE?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)
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@® 70 @ 106 ® 34 @ 2502 ($)2520
Aoz WA e 57 354Uk
(B BAE &) = (LAY A F) x2
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(35 2) x (35 + 1) = 70 x 36 = 2520




A2 g B A9 Gol7t A,
BAY AR} B 4 gy,




‘ (3) 9] v = Hof




38. ThS WAl B Fol 7 AL AL ol AU

® 60+2.5 @ 48+1.5 ® 8.64+0.48

@ 144 +9.6 ® 26+3.25

~&B

D 60 +2.5=600=+25=24
@ 48+15=48+15=32
3 8.64 +0.48 = 864 - 48 = 18
@ 144 + 9.6 = 1440 ~ 96 = 15
® 26 + 3.25 = 2600 ~ 325 = 8




D) 66.88+3.52 @ 2-+0.16 ® 42.14+4.3

@ 62.16=-8.4 ® 16.02+3

B

@ 66.88 + 3.52 = 6688 + 352 = 19

@ 2+0.16 =200 ~ 16 = 12.5

(3 4214 +43=14214+43 =98

@ 62.16 -84 =621.6+84 =74

® 16.02+3=5.34
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1 1
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